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RBEER) BEEITH T 5EIE (%)

HETA S | BEES | sEoEH% I &
) 18 ] A
= 1 # 10 510,000 50 0 50
E F T i) 8 510,000 45 9 54
® = ™ (i 8 510,000 40 11 51
mE ™ i) 9 510,000 37 13 50
T & ™ L) 8 510,000 44 11 55
A i\ 7] 9 510,000 49 12 61
m £ ™ & 8 510,000 42 12 54
TiEFKT L) 8 510,000 49 9 58
M A/ + L) 8 510,000 40 8 48
F m ™ L) 8 510,000 46 10 56
F £ mh o) 9 510,000 43 12 55
B OF H G 10 510,000 43 6 49
= ¥ F HT L) 8 510,000 42 10 52
H % L) 8 510,000 45 10 55
Z Wl H 7] 8 510,000 37 13 50
i i # 7] 10 510,000 32 12 44
E B M i 8 510,000 44 8 52
= @B M i 8 510,000 47 7 54
A b H L) 5 510,000 45 8 53
X 2 H o) 6 510,000 37 10 47
T & H 3] 7 510,000 41 10 51
X & i) 4 510,000 51 8 59
Ly o H 7] 8 510,000 44 7 51
= = NIl BT 7] 8 510,000 40 10 50
L & BT 7] 9 510,000 59 9 68
& Nl Hr L) 8 510,000 36 15 51
Mo HT i 8 510,000 41 11 52
¥ IR HT i 10 510,000 42 10 52
A & # (i 12 510,000 43 9 52
b= O (i 10 510,000 50 9 59
q 5+ H 5] 8 510,000 55 0 55
X A H L) 8 510,000 44 7 51
= R # 7] 8 510,000 40 13 53
£ 8 H i 8 510,000 43 9 52
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RBERER) fRZEICxt 9 5EIE (%) oG FE
B = meE | AEE | 9% T LG
wneETsanE WEERLN REHE
(%) (%) (M) (M) (M)

30 20 50 9.42 0 23,520 25,440 127201 %0
26 20 46 9.20 42.18 21,300 26,800 13400|Z F
30 19 49 7.00 35.00 21,500 26,500 13250|% =
29 21 50 7.80 28.00 22,000 27,000 13500188 B T
28 17 45 7.57 30.28 19,000 22,600 11,3000 &
24 15 39 6.80 30.00 19,000 23,000 11500178 & T
28 18 46 7.60 33.00 18,000 22,200 11,100|18 £ ™
22 21 43 6.60 28.00 12,000 20,500 10,250| £ 1& ;& K
36 16 52 7.50 23.00 22,000 17,000 8,500|@ 7 + T
30 14 44 7.80 30.00 23,600 20,500 10250|F ®m ™
32 13 45 6.30 34.00 21,000 15,000 75001F X ™
32 20 52 6.00 35.00 15,000 16,000 8000|% ¥ HT
30 18 48 6.00 38.00 16,500 18,000 9,000|% # #I| HT
31 14 45 6.00 29.00 21,000 17,000 8500|@ ¥ HT
31 19 50 6.80 44.00 18,000 21,000 10500|%Z HE HT
39 17 56 4.70 28.00 18,500 14,500 725004t JIl A
28 20 48 6.20 45.00 23,000 26,000 13000|% B& #F
30 16 46 6.00 28.00 20,000 21,500 10,750|= # #f
33 14 47 6.00 35.00 19,000 13,000 6,500|A& L HT
37 16 53 5.90 36.00 16,000 10,000 5000[k & HT
34 15 49 6.00 33.00 21,000 15,000 7500+ & HT
24 17 4 7.70 49.20 16,500 17,900 8,950k JII #F
34 15 49 6.70 20.00 21,000 15,000 7,500|Ly @ HT
28 22 50 5.80 40.00 12,000 15,000 7,500|1= i€ JIl ET
18 14 32 6.70 25.00 12,000 18,000 9,000|# + {& HT
28 21 49 6.20 44.00 17,100 23,100 11,5504 JIl HT
31 17 48 4.30 30.00 15,000 15,000 7,500|# &1 HT
24 24 48 5.90 26.00 12,500 19,700 9,850|#% R HT
34 14 48 6.95 29.00 21,000 14,400 72000 & #
25 16 41 6.50 20.00 17,000 20,000 10,0002 %5 HT
27 18 45 7.10 0 12,500 15,800 7,900|®m & + HT
30 19 49 7.00 28.00 16,000 18,800 9,400|X A H
27 20 47 415 23.50 9,000 12,000 6,000|1= & #
29 19 48 5.60 26.00 15,000 17,000 8500|2 & HI

84




(MRGEFICEITLSA 0 ROASHEXESEFRRER EICRLS

RBERER) g3t 5EIE (%)
HAHE | BERS | sEomy |T e RER B f @
() FTiREIfREE | EERIRE
= 1 # 10 140,000 50 0 50
E F T o) 8 140,000 28 11 39
® = ™ & 8 140,000 47 11 58
mE ™ 5] 9 140,000 39 16 55
T & ™ L) 8 140,000 43 11 54
A i\ 7] 9 140,000 54 14 68
m £ ™ & 8 140,000 43 15 58
TiEFKT L) 8 140,000 46 11 57
B +m L) 8 140,000 41 8 49
F m ™ i 8 140,000 45 9 54
F £ mh o) 7 140,000 44 7 51
B OF H L) 10 140,000 40 7 47
= ¥ F HT L) 8 140,000 42 9 51
B % Hr L) 8 140,000 48 7 55
Z Wl H 7] 8 140,000 44 11 55
i i # 7] 10 140,000 32 11 43
E B M i 8 140,000 37 6 43
= ’m # i 8 140,000 55 8 63
A b H L) 5 140,000 44 8 52
X 2 H o) 6 140,000 38 9 47
T & H 3] 7 140,000 42 10 52
X & 5] 4 140,000 51 8 59
Ly o H 7] 8 140,000 42 9 51
= = NIl BT 7] 8 140,000 41 13 54
L & BT 7] 9 140,000 57 9 66
& Nl Hr L) 8 140,000 54 23 77
Mo HT L) 8 140,000 43 9 52
¥ IR HT i 10 140,000 37 15 52
A & # (i 12 140,000 41 11 52
b= S 3] 10 140,000 54 5 59
B+ H 5] 8 140,000 57 0 57
X A H L) 8 140,000 39 6 45
= R # 7] 8 140,000 40 13 53
£ 8 H i 8 140,000 43 9 52
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ERT(ERER) #eg8I2xt 9 5 & (%) o) FE
TS . — FEE HETH %
1% E148 T H BI04 RRERL REHS
() (M) (M)

30 20 50 6,480 7,080 3540l #01 ™
42 19 61 6,700 5,200 2600|Z F ™
28 14 42 5,800 5,600 2800|% = T
30 15 45 6,000 5,000 25008 B T
28 18 46 6,000 7,400 3700| & ™™
20 12 32 6,000 7,000 3500|128 B Th
25 17 42 3,000 3,800 1900|178 £ ™™
31 13 44 6,000 4,500 2,250| L1k F KT
36 15 51 6,700 5,000 2,500|@ /5 +
28 18 46 6,400 7,500 3750|1F ®m ™
31 18 49 6,000 6,000 3000|F = ™
31 22 53 5,000 6,000 3000\ ¥ HT
31 18 49 5,500 6,000 3,000|% #F #F| HT
29 16 45 6,000 6,000 3000|@ ¥ HT
26 19 45 4,000 6,000 3000|1% H H
40 17 57 7,000 5,500 27504t il #F
33 24 57 6,000 7,000 3500|% R% #
25 12 37 6,000 6,000 3000|= # #¢
33 15 48 8,000 6,000 3000\ & i HT
36 16 52 7,600 4,800 2400k 2 H
34 14 48 6,800 4,600 2,300|+ & HT
25 16 41 2,000 2,100 1,050]K JIl #t
34 15 49 7,000 5,000 2,500[Ly > HT
31 15 46 4,000 3,000 1,50001= & JIl BT
23 11 34 5,700 5,000 2,500|% + {k& HT
15 8 23 1,500 1,500 75001 JIl HT
32 16 48 7,500 7,000 3500|# %1 HT
25 23 48 4,900 6,900 3450|1#% & HT
33 15 48 6,300 4,800 2400|1H & #
26 16 42 6,000 7,000 3500 % HT
26 17 43 5,000 6,300 3,150|® & + HT
34 21 55 8,000 9,200 4600|X H H
27 20 47 6,000 8,000 4000|1= & #
28 20 48 5,800 7,300 3650|2 @& HI




(1) RGEFICE T SHH

/N PR RERTBRGHERERIC RS D

ARBEHER) BEEITH I 5E1E (%)

HAHE | BERS | sEomy |T e RER B f @
() FTiREIfREE | EERIRE
= 1 # 10 120,000 50 0 50
E F T i) 8 120,000 45 6 51
® = ™ & 8 120,000 43 8 51
mE ™ i 9 120,000 32 13 45
T & ™ L) 8 120,000 42 10 52
A i\ 7] 9 120,000 50 9 59
m £ ™ & 8 120,000 47 9 56
TiEFKT L) 8 120,000 37 8 45
B +m L) 8 120,000 40 8 48
F m ™ i 8 120,000 44 8 52
F £ mh o) 7 120,000 46 6 52
B OF H (i 10 120,000 33 0 33
= ¥ F HT L) 8 120,000 51 0 51
B % Hr L) 8 120,000 56 0 56
Z Wl H 7] 8 120,000 24 0 24
i i # 7] 10 120,000 39 0 39
E B M i 8 120,000 63 0 63
= ’m # i 8 120,000 46 2 48
A b H L) 5 120,000 46 4 50
X 2 H o) 6 120,000 30 4 34
T & H 3] 7 120,000 44 9 53
X & i) 4 120,000 42 6 48
Ly o H 7] 8 120,000 40 9 49
= = NIl BT 7] 8 120,000 40 5 45
L & BT 7] 9 120,000 43 11 54
& Nl Hr L) 8 120,000 38 10 48
Mo HT L) 8 120,000 42 9 51
¥ IR HT i 10 120,000 37 7 44
A & # (i 12 120,000 41 10 51
b= S 3] 10 120,000 34 23 57
B+ H 5] 8 120,000 50 0 50
X A H L) 8 120,000 36 7 43
= R # 7] 8 120,000 41 8 49
£ 8 H i 8 120,000 44 8 52
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RBERER) fRZEICxt 9 5EIE (%) oG FE
v = @ sl | Ams | wsm | Tea | TUHE
HEDNHEE | THIREE (%) (%) ) )
30 20 50 2.64 0 7,800 6480l %1 ™
31 18 49 2.20 7.53 7,700 5800|Z F ™
32 17 49 1.90 7.00 7,600 52001% = Tth
35 20 55 1.40 6.90 6,900 49008 B T
33 15 48 1.60 7.50 6,800 43001 f& T
27 14 41 2.00 7.00 7,700 5600|128 W T
27 17 44 1.60 4.50 4,300 3500|178 £ T
38 17 55 1.06 5.80 5,900 3400| L1k F KT
36 16 52 2.60 8.00 9,000 5000 75 + T
28 20 48 1.80 6.10 6,500 5800|1F% @ ™
28 20 48 2.00 6.00 7,000 6000|F =% ™
67 0 67 1.10 0 10,000 Ol F Hr
49 0 49 1.40 0 7,000 ol # #I HT
44 0 44 2.00 0 10,000 ol % Hr
76 0 76 1.00 0 15,600 ol B Hr
61 0 61 1.60 0 8,000 ojdt NIl #t
37 0 37 1.60 0 8,400 ol B #
30 22 52 1.80 3.00 8,000 8000|= @& #
30 20 50 2.50 10.00 9,000 7,000| & 14 HT
32 34 66 1.50 5.00 5,000 6,000|Kk 2 H
31 16 47 1.60 9.00 6,000 40001+ f{& HT
32 20 52 0.90 12.00 3,700 2,800k Il #F
34 17 51 2.60 10.00 9,000 5500[{Ly @ HT
35 20 55 2.00 10.00 7,500 5,200|1= i€ JIl HT
29 17 46 0.90 7.00 5,000 4000|% + {k& HT
36 16 52 1.49 8.1 6,300 3,300 JIl HT
34 15 49 2.50 17.00 11,000 6,000|#% %1 HT
29 27 56 1.00 4.00 3,800 4400|148 & HT
34 15 49 2.50 12.00 8,400 4500|1H & #
27 16 43 1.00 14.00 5,400 4000;F %5 HT
34 16 50 2.60 0 8,000 5000\ 5 + HT
31 26 57 1.43 7.16 5,100 5600|X A H
23 28 51 0.97 3.80 2,000 3000|1= ® #F
28 20 48 1.90 8.00 5,700 5200|2 & H
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(2) MAZ DR RFFR24F 3831 HIRTAE)

4 ERERBERDEITHRD S

MHETR DK hn A = ) E7N 5
H G #
iLIESES w A 0 —RBRIRE EHFHEFYR BEwmER| & &
— SRR | e &t AEFHL | ©+D)
(A) (B) Etgy | ZOERA (D) (E)

= M ™ 159,905 337,875 46,141 1,151 47,292 3,583 50,875
E F W 8,189 15,889 3,301 63 3,364 229 3,593
® = ™ 8,793 19,377 3,676 123 3,799 241 4,040
B E W 21,280 48,669 6,750 250 7,000 539 7,539
T & 12,078 28,807 4,626 180 4,806 301 5,107
A B ™™ 11,183 24,441 4,308 123 4,431 230 4,661
m £ W 10,248 22,587 4,207 127 4,334 182 4516
TiEFKT 7,970 15,961 3,256 90 3,346 240 3,586
M B+ h 16,273 35,853 5,804 215 6,019 493 6,512
F B ™ 14,343 34,326 5,041 212 5,253 381 5,634
F £ WH 12,717 27,635 4,579 157 4,736 345 5,081
B OF OH 1,597 2,994 657 13 670 30 700
= ¥ 7 HT 1,782 3,583 658 18 676 30 706
H % @ 1,305 2,927 552 12 564 32 596
% B 1,322 2,995 598 12 610 31 641
il # 649 1,432 229 12 241 15 256
E B’ # 448 982 152 8 160 14 174
= B # 1,735 4,001 818 20 838 38 876
A W4 H 1,888 3,889 606 22 628 45 673
X 2 H 2,559 4,740 843 17 860 46 906
T & H 2,045 4,316 678 19 697 45 742
X Il # 233 439 61 2 63 9 72
Ly o H 10,945 25,750 3,675 153 3,828 337 4,165
Z & I HT 3,331 6,550 1,168 37 1,205 67 1,272
h t+ {& HT 3,629 7,887 1,350 45 1,395 129 1,524
£ NI HT 6,215 13,996 2,089 70 2,159 220 2,379
Mo&n  HT 2,983 6,390 1,054 36 1,090 76 1,166
¥ R H 1,766 3,803 633 28 661 31 692
A & # 2,456 5573 858 29 887 53 940
b= ) 2,741 6,536 1,125 24 1,149 56 1,205
M A+ BT 8,758 19,256 3,420 135 3,555 247 3,802
X R H 2,847 5,990 1,295 22 1,317 58 1,375
= & # 786 1,731 328 5 333 14 347
£ ¥ 5,734 12,734 2,293 120 2,413 212 2,625
m Hi 282,979 611,420 91,689 2,691 94,380 6,764 101,144
BT & & 67,754 148,494 25,140 859 25,999 1,835 27,834
a8 &t 350,733 759,914 116,829 3,550 120,379 8,599 128,978
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(B 7. N)

hn A F O 7 NI
w B’ K OF #
H T | —BREERRE EHBERIRE FH =1 ilIESES
EHEEH | & ¥ | Emwmr I B (F)+(G)
(F) ] % (G) (H)

8,078 76,073 5,014 1,582 6,596 82669l %1 ™
517 5,506 298 122 420 5926|Z F ™
674 6,854 396 90 486 7340|% = T

1,444 11,791 841 245 1,086 12877l B W
913 8,840 513 139 652 94921 & ™™
740 7,726 377 105 482 8208|78 & ™
724 7,553 327 73 400 7953|118 £ T
590 5613 341 141 482 6,095| L 1&EF KT

1,110 9,957 774 254 1,028 10985\ & + ™

1,036 9,302 653 176 829 10131|F m ™™
977 7,737 524 166 690 8427|F%F =% T
104 1,108 45 16 61 1,169|3 ¥ H
145 1,151 48 10 58 1,209|% # F| HT
149 923 48 19 67 990|E %F HT
143 1,103 45 9 54 1,157|% H H

61 385 31 5 36 421046 Nl
52 217 24 4 28 245|585 B
141 1,637 63 16 79 1,716|= 7 #F
134 936 70 19 89 1,025\ 1 HT
227 1,204 68 9 77 1,281k 2 Hr
133 1,123 7 29 100 1,223| £ 1& HT
22 80 12 2 14 alx NIl #
861 6,196 521 154 675 6,871|Ly @ HT
301 1,848 112 22 134 1,982|1= i JIl BT
300 2,310 187 60 247 2,557|% t 1k HT
423 3,584 313 92 405 39894 JIl HT
244 1,786 120 37 157 1,943|#% %0 HT
140 1,029 62 7 69 1,008|4% & HT
193 1,389 90 19 109 1498|H & #
261 1,950 82 24 106 2,056 %5 HT
654 6,075 406 96 502 6,577\ 5 + HT
232 2,289 89 16 105 2394 X A H
67 552 19 5 24 576|]= & #F
449 4,088 354 105 459 4547|2 @ HI
16,803 156,952 10,058 3,093 13,151 170,103 |/ H
5,436 42,963 2,880 775 3,655 46,618 |BET %t &
22,239 199,915 12,938 3,868 16,806 216,721 | & 5
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(2) MAZ DR RFFR24F 3831 HIRTAE)

0 RESHEXERFRN QR #ITRLID

METH DK R ZHEaHEXIESEERHGESD
LS G 3
mEHE | # F # A O —RBRRREEHHEFYR BRE®ER| & &
—BEIR | on ey | AEFEL | 0+
(A) (B) EEy [T M ) (K)

= 1 159,905 337,875 46,141 1,151 47,292 3,583 50,875
E PR M 8,189 15,889 3,301 63 3,364 229 3,593
® = ™ 8,793 19,377 3,676 123 3,799 241 4,040
B E W 21,280 48,669 6,750 250 7,000 539 7,539
T & ™ 12,078 28,807 4,626 180 4,806 301 5,107
A B ™ 11,183 24 441 4,308 123 4,431 230 4,661
m £ ™ 10,248 22,587 4,207 127 4,334 182 4516
TiEFKT 7,970 15,961 3,256 90 3,346 240 3,586
B +m 16,273 35,853 5,804 215 6,019 493 6,512
F m ™ 14,343 34,326 5,041 212 5,253 381 5,634
F E H 12,717 27,635 4,579 157 4,736 345 5,081
B O H 1,597 2,994 657 13 670 30 700
= ¥ A OET 1,782 3,583 658 18 676 30 706
H % H 1,305 2,927 552 12 564 32 596
Z Wl H 1,322 2,995 598 12 610 31 641
i i # 649 1,432 229 12 241 15 256
E K # 448 982 152 8 160 14 174
= ’m # 1,735 4,001 818 20 838 38 876
A b H 1,888 3,889 606 22 628 45 673
X 2 H 2,559 4,740 843 17 860 46 906
T & H 2,045 4,316 678 19 697 45 742
X & 233 439 61 2 63 9 72
W\ o H 10,945 25,750 3,675 153 3,828 337 4,165
= = NIl BT 3,331 6,550 1,168 37 1,205 67 1,272
f t {£ H 3,629 7,887 1,350 45 1,395 129 1,524
£ I HT 6,215 13,996 2,089 70 2,159 220 2,379
o x0 HT 2,983 6,390 1,054 36 1,090 76 1,166
¥ R H 1,766 3,803 633 28 661 31 692
A & # 2,456 5573 858 29 887 53 940
b= S 2,741 6,536 1,125 24 1,149 56 1,205
m 75+ BT 8,758 19,256 3,420 135 3,555 247 3,802
X A H 2,847 5,990 1,295 22 1,317 58 1,375
= R # 786 1,731 328 5 333 14 347
£ 8 H 5,734 12,734 2,293 120 2,413 212 2,625
m Hi 282,979 611,420 91,689 2,691 94,380 6,764 101,144
BT # & 67,754 148,494 25,140 859 25,999 1,835 27,834
a8 &t 350,733 759,914 116,829 3,550 120,379 8,599 128,978
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(B, N)

WEREEOKR

wm B’ K O F #M
—RHRRE | BERREl &8 QLIRS ES
8 FY (L) + (M)
(L) (M) (N)

76,073 6,596 82,669/ %1 T
5,506 420 5926|Z F T
6,854 486 734012 = T

11,791 1,086 12877\ B T
8,840 652 9492 k& ™
7,726 482 8208|’8 B ™
7,553 400 7953|18 £ T
5613 482 6,095| L 1&F K™
9,957 1,028 10,985|@ /7 + ™
9,302 829 10131|1F @ T
7,737 690 8427|F %=
1,108 61 1,169 ¥ HT
1,151 58 1,209|F # F HT

923 67 990|H % HT
1,103 54 1,157|1% H §r
385 36 2146 Nl
217 28 245|5% B& #
1,637 79 1,716 = @ #
936 89 1,025|A& U HT
1,204 77 1,281\ Kk = Hr
1,123 100 1,223\ 1& HT
80 14 MxX NIl #
6,196 675 6,871|Ly @ HT
1,848 134 1,982|1Z i JIl BT
2,310 247 2557\ t {k& HT
3,584 405 39894& Il HT
1,786 157 1,943|# %0 HT
1,029 69 1,008|4% R HT
1,389 109 14981 & #
1,950 106 2,056 ¥ HT
6,075 502 6,577|™ 7 + HT
2,289 105 2394\ K B H
552 24 576|= " #F
4,088 459 4547|2 & Hr
156,952 13,151 170,103 |Th H
42,963 3,655 46,618 |BET #t §
199,915 16,806 216,721 |& H
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(2) MAZ DR RFFR24F 3831 HIRTAE)

/N PR RIRBGHREEICR DS

MHETH DK IR T EMMS £ R B G BR
H G 3
mEHE |# & & A O —RBRRREEHHEFYR BRE®EER| & &
] . &t BEFR | ©+W©)
(A) (B) Etgy |TOERR () (K)
= 1 159,905 337,875 21,042 304 21,346 4,329 25,675
E PR M 8,189 15,889 1,740 28 1,768 261 2,029
® = ™ 8,793 19,377 2,081 49 2,130 308 2,438
B E W 21,280 48,669 3218 63 3,281 709 3,990
T & ™ 12,078 28,807 2,440 70 2,510 398 2,908
A Iy T 11,183 24 441 2,211 33 2,244 308 2,552
m £ ™ 10,248 22,587 2,415 52 2,467 247 2,714
TiEFKT 7,970 15,961 1,621 25 1,646 301 1,947
A+ 16,273 35,853 2,928 58 2,986 637 3,623
F Emom 14,343 34,326 2,467 56 2,523 520 3,043
F E H 12,717 27,635 2,129 47 2,176 447 2,623
B O H 1,597 2,994 377 8 385 33 418
= ¥ A OET 1,782 3,583 347 8 355 40 395
H % H 1,305 2,927 294 6 300 37 337
Z Wl H 1,322 2,995 339 4 343 38 381
i i # 649 1,432 103 8 111 15 126
E B M 448 982 58 1 59 20 79
= ’m # 1,735 4,001 456 7 463 51 514
A b H 1,888 3,889 261 5 266 61 327
X 2 H 2,559 4,740 349 5 354 59 413
T & H 2,045 4316 331 1 332 61 393
X & 233 439 26 1 27 10 37
Ly o H 10,945 25,750 1,652 36 1,688 443 2,131
= = NIl BT 3,331 6,550 465 12 477 88 565
f t {£ H 3,629 7,887 708 8 716 165 881
£ NI HT 6,215 13,996 985 12 997 274 1,271
o x0 HT 2,983 6,390 502 3 505 107 612
¥ R H 1,766 3,803 296 6 302 51 353
A & # 2,456 5573 402 9 411 73 484
b= S 2,741 6,536 573 6 579 71 650
m 75+ BT 8,758 19,256 1,794 37 1,831 338 2,169
X A H 2,847 5,990 761 767 71 838
= R # 786 1,731 179 0 179 19 198
£ 8 H 5,734 12,734 1,226 31 1,257 294 1,551
m Hi 282,979 611,420 44,292 785 45,077 8,465 53,542
BT # & 67,754 148,494 12,484 220 12,704 2,419 15,123
a8 &t 350,733 759,914 56,776 1,005 57,781 10,884 68,665
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(B, N)

WEREEOKR

wm B’ K O F #M
—RRIRIR | REBRRIRE = T4
BH FY (L) + (M)
(L) (M) (N)

25,530 5,965 31497 %1 ™
2,208 390 2598|F F ™
2,743 452 3195) % =
4,063 1,000 5063|]F8 B T
3,262 592 3854 {k&
2,975 433 3408|’8 B ™
3,110 375 34851/ £ ™
2,012 435 2447\ L 1EFE KT
3,671 938 4609 7 +
3,260 753 4013/ F ™| ™
2,671 620 3291|1F = 1

485 52 537| ¥ Hr
436 56 492|% #F F| HT
378 57 435|H % HT
453 52 505|% H Hr
132 31 163|dt  JiI &t
64 26 W0E B
627 73 7001= B #
316 81 397|&X W Hr
398 78 476l Xk = Hr
402 93 495|+ {& HT
31 14 1] b, I T )
2,031 623 2,654{Ly O HT
579 123 702|{= & )1l HT
880 231 1,111 L 1% B
1,205 367 15724 Il HT
634 137 71|88 x0 HT
351 67 A18|8% [/ HT
499 103 602|8 = #t
732 99 831|i# ¥ HT
2,304 480 2,784|® 7 + HT
996 97 1,093/ K A Hr
217 23 240|1= |’ ¥
1,597 412 2009|282 & Hr

55,505 11,953 67,458 | B

15,747 3,375 19,122 |BT # §

71,252 15,328 86,580 | & H
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